(minADC[@]<thresh[0])counto++;

(minADC[11<thresh[1])counti1++;

(minADC[2]<thresh[2])count2++;

(minADCL[@]<thresh[0]1&&minADC[1]<thresh[1])count3++;
(minADCL@]<thresh[0]&&minADC[1]<thresh[1]&&minADC[2]<thresh[2])count4++;
(abs(timens[minIndex[1]]-timens[minIndex[@]1)<5) count5++;
(abs(timens[minIndex[@]]1-timens[minIndex[2]1)<5) count6++;
(abs(timens[minIndex[2]]-timens[minIndex[1]1]1)<5) count7++;
(abs(timens[minIndex[1]]-timens[minIndex[@]])<5&&abs(timens[minIndex[0]]-timens[minIndex[2]])<5) count8++;
(minADC[@]<thresh[0]1&&minADC[1]<thresh[1]&&abs(timens[minIndex[1]]-timens[minIndex[0]1]1)<5) count9++;

(minADCL[@]<thresh[0]&&minADC[1]<thresh[1]&&minADC[2]<thresh[2]&&abs(timens[minIndex[1]]-timens[minIndex[0]])<5&&\
abs(timens[minIndex[@]]1-timens[minIndex[2]]1)<5) count10++;

681 count@
5528 | countl
788 count2
567 count3
125 count4
2991 | countb
2218 | counté6
1857 | count7

45
41
60
31

4
2991
YYAR:
1857

15 counto
33 count1
33 count2
27 count3
27 count4
YLYA count>b
4668 count6
4550 count?

count® : 7669 | count®
countl : 6740 count1l

count2 : 7119 count2
count3 : 6179 count3
count4 : 5472 count4
count5 : 6742 countb
count6 : 4668 counté6
count7 : 4550 count?7
count8 : 2730 count8 2730 count8 508 count8 508
count9 : 4435 count9 27 count9 123 count9 21

count10 : 1750 countlie : 27 count1@ : 6 count19 : 2
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